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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2019 

 

Subject Name:  Digital Communication 
 

Subject Code: 2TE04DCM1     Branch: Diploma (EC) 
    

Semester : 4        Date : 17/09/2019   Time : 02:30 To 05:30   Marks : 70 
 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  The process of converting analog sample in to discrete form is called 

rate? 

(i)  Modulation 

(ii)  Multiplexing 

(iii) Quantization 

(iv)  Sampling 

1 

b)  The modulation techniques used to convert analog signal into digital 

signal are: 

(i) Pulse Code Modulation 

(ii)  Delta Modulation 

(iii) Adaptive Delta Modulation 

(iv) All of the Above 

  

 

1 

c)   The data rate of QPSK is ___________ of BPSK. 

(i) Thrice 

(ii) Four times 

(iii)Twice 

(iv) Same 

1 

d)    Equalization in digital communication 

(i) Reduces inter symbol interference 

(ii) Removes distortion caused due to channel 

(iii) Is done using linear filters 

(iv) All of the Above 

 

1 

e)  The number of bits of data transmitted per second is called 

(i) Data signaling rate 
(ii) Modulation rate 

(iii)Coding 

1 



Page 2 of 6 

 

(iv) None of the above 
f)  TDM stands for: 

(i) Time-Division Multiplexing 

(ii) Time-Domain Multiplexing 

(iii)Ten-Digital Mancheste 

(iv) Ten Dual-Manchester 

1 

g)  Codec stands for: 

(i)  Coder-Decoder 

(ii)  Coded-Carrier 

(iii)  Code-Compression 

(iv)  none of the above 

1 

h)  Compared to PCM, delta modulation: 

(i)  Transmits fewer bits per sample 

(ii)  Requires a much higher sampling rate 

(iii) Can suffer slope overload 

(iv)  All of the above 

1 

i)  The ____________________ Rate is the minimum sampling rate for 

converting analog signals to digital format. 

(i) Nyquist 

(ii) Shanon 

(iii)Hartley 

(iv) None of the  above 

1 

j)  One of the disadvantages of PCM is: 

(i)  It requires large bandwidth 

(ii)  Very high noise 

(iii) Cannot be decoded easily 

(iv)  All of the above 

 

1 

k)  In Delta Modulation, the bit rate is: 

(i)  N times the sampling frequency 

(ii)  N times the modulating frequency 

(iii) N times the nyquist criteria 

(iv)  None of the above 

1 

l)  For a line code, the transmission bandwidth must be 

(i) Maximum possible 

(ii) As small as possible 

(iii) Depends on the signal 

(iv)  None of the above 

1 

m)  Regenerative repeaters are used for: 

(i)  Eliminating noise 

(ii)  Reconstruction of signals 

(iii) Transmission over long distances 

(iv) All of the above 

1 

n)  In polar RZ format for coding, symbol ‘0’ is represented by 

(i) Zero voltage 

(ii) Negative voltage 

(iii)Pulse is transmitted for half the duration 

(iv) Both b and c are correct 

1 
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Attempt any four questions from Q-2 to Q-8 
 

Q-2  Attempt all questions (14) 
 (a) Explain sampling theorem in detail  

 (b) Describe Pulse Amplitude modulation with necessary figures.  

Q-3  Attempt all questions (14) 
 (a) Explain Quantization process with necessary figure.  

 (b) Briefly explain RZ and NRZ channel coding techniques. 

 
 

Q-4  Attempt all questions (14) 
 (a) Explain Differential PCM (DPCM) and compare with PCM.  

 (b) Explain principle and advantages of digital multiplexing.  

    

Q-5  Attempt all questions (14) 
 (a) Describe block diagram and operation of PCM-TDM  

 (b) Write a short note on Channel Association Signaling  

    

Q-6  Attempt all questions (14) 
 (a) Explain Quadrature Amplitude Modulation (QAM) with figure  

 (b) Briefly discuss ASK and FSK  

Q-7  Attempt all questions (14) 

 (a) Explain data communication with necessary elements  

 (b) Explain Blue tooth Communication techniques.  

    

Q-8  Attempt all questions (14) 

 (a) Describe Asynchronous data serial data communication.  

 (b) Give comparison of PAM , PWM and  PPM  
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પ્રશ્ન-૧  નીચેઆ઩ેલાપ્રશ્નોનો ના જવાબ આ઩ો (૧૪) 

 અ એનારોગસૅમ્઩ર સ્લતતં્રસ્લરૂ઩ભારંૂ઩ાતંરયતકયલાનીપ્રરિમાનેશ કંહલેાભાઆંલેછે? 

(i) ભોડ્ય રેળન(ii) ભલ્ટિપ્રેક્સિંગ 

(iii) ્લાિંાઈજેસસન     (iv) સેમ્઩ાલરિંગ 

 

૧ 

    
ફ 

એનારોગસસગ્નરનેરડ્જજિરસસગ્નરભારંૂ઩ાતંરયતકયલાભાિેલ઩યામેરીભોડ્ય રેળ
નતકનીકોછે: 
(i) ઩ટસકોડ્ભોડ્ય રેળન                (ii) ડ્ટેિાભોડ્ય રેળન 

(iii) અન કરૂનળીરડ્ટેિાભોડ્ય રેળન    (iv) ઉ઩યનાફધા 
 

૧ 

    
ક 

ક્ય઩ૂીએસકે(QPSK) નોડ્િેાયેિફી઩ીએસકે(BPSK)નો_________ છે. 
i)  ત્રણગણો          (ii) ચાયગણો 
(iii) ફેગણો         (iv) સભાન 

૧ 

   ખ   રડ્જજિરકમ્ય સનકેળનભાસંભાનતા(Equalization) 

(i) આંતયપ્રતીકદખરઘિાડ્છેે (ii) ચેનરનેકાયણેથતીસલકૃસતનેદૂયકયેછે 

(iii) યેખીમગા઱કોનોઉ઩મોગકયીનેકયલાભાઆંલેછે (iv) ઉ઩યનાફધા 

૧ 

   ગ પ્રસતસેકંડ્ટ્રાન્સસભિકયેરાડ્િેાનાફીટ્સનીસખં્માકહલેાભાઆંલેછે 

(i) ડ્િેાસસગ્નલરિંગયેિ        (ii) ભોડ્ય રેળનયેિ 

(iii) કોરડ્િંગ                    (iv) ઉ઩યો્તકંઈનથી 

૧ 

   ઘ િીડ્ીએભ(TDM)એિરે: 
(i) સભમ-સલબાગભટિીપ્રેક્સિંગ    (ii) સભમ-ડ્ોભેનભલ્ટિપ્રેક્સિંગ 

(iii) િેન-રડ્જજિરભાચંેસ્િ           (iv) િેનડ્ય અર-ભાન્ચેસ્િય 

૧ 

   ચ કોડ્કે(Codec )એિરે: 
(i) કોડ્ય-ડ્ીકોડ્ય     (ii) કોડ્ડે્-કેરયમય 

(iii) કોડ્-કમ્પ્રેળન    (iv) ઉ઩યો્તકંઈનથી 

૧ 

   છ ઩ીસીએભ(PCM ) નીત  રનાભા,ં ડ્ટેિાભોડ્ય રેળન: 
(i) સૅમ્઩રદીઠઓછાલફટ્સટ્રાન્સસભિકયેછે 

(ii) ખ ફ લધ સેમ્઩રદયનીજરૂયછે 

(iii) ઢા઱ઓલયરોડ્સહનકયીળકેછે 

(iv) ઉ઩યો્તતભાભ 

૧ 

   જ એનારોગસસગ્નરનેરડ્જજિરપોભેિભારંૂ઩ાતંરયતકયલાભાિે________________

____ યેિએન્યનૂતભનમનૂાનોદયછે. 
૧ 
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(i) સનકસલસ્િ     (ii) ળેનોન 

(iii) હાિટરી      (iv) ઉ઩યો્તકંઈનથી 
 

   ઝ ઩ીસીએભ(PCM)નોગેયપામદોછે: 
(i) તેનેભોિાફેન્ડ્સલડ્થનીજરૂયછે(ii) ખફૂલધાયેં ઘોંઘાિ 

(iii) સય઱તાથીડ્ીકોડ્કયીળકાત  નંથી(iv) ઉ઩યો્ત 

૧ 

                       
િ 

ડ્ેટિાભોડ્ય રેળનભા,ં ફીિયેિઆછે: 
(i) નમનૂાનીઆલતટનનોN ગણો(ii) ભોડ્ય રેરિિંગઆલતટનનોNગણો 
(iii) સનકસલસ્િભા઩દંડ્નોNગ ણોત (iv) ઉ઩યો્તકંઈનથી 

૧ 

   ઠ રાઇનકોડ્ભાિે, ટ્રાન્સસભળનફેન્ડ્સલડ્થહોલીઆલશ્મકછે 

(i) ભહત્તભળક્ય(ii) ળક્યતેિલ નંાન  ં
(iii) સસગ્નર઩યઆધાયીતછે(iv) ઉ઩યો્તકંઈનથી 
 

૧ 

   ડ્ નજીસલત઩ નયાલતટકો (Regenerative 

Repeaters)નોઉ઩મોગઆભાિેથામછે: 
(i) ઘોંઘાિ દૂયકયલો(ii) સકેંતોન ઩ં  નસનિભાટણ 

(iii) રાફંાઅંતય઩યટ્રાન્સસભળન(iv) ઉ઩યો્તતભાભ 

૧ 

   ઢ કોરડ્િંગભાિેધ્ર લીમઆયઝેડ્ (઩ોરાય RZ)પોભેિભા,ં પ્રતીક‘0’ 

દ્વાયાયજૂથામછે 

(i) શનૂ્મલોટિેજ(ii) નકાયાત્ભકલોટિેજ 

(iii) ઩ટસઅડ્ધાસભમગા઱ાભાિેપેરામછે 

(iv) ફીઅનેસીફનંેમોગ્મછે 

 

૧ 

પ્રશ્ન ૨ થી પ્રશ્ન ૮ માાંથી કોઈ ઩ણ ચાર પ્રશ્નો ના જવાબ લખો 
 

પ્રશ્ન ૨  બધાપ્રશ્નોનોજવાબ લખો (૧૪) 

 (અ) સેંપપ્રિંગ થીએયભ (નમનૂાનાપ્રભેમ)નેસલગતલાયસભજાલો  

 (ફ) જરૂયીઆકૃસતસાથે઩ટસકં઩નસલસ્તાયભોડ્ય રેળન (PAM)ન લંણટનકયો.  

પ્રશ્ન 3  બધાપ્રશ્નોનોજવાબ લખો (૧૪) 

 (અ) જરૂયીઆકૃસતસાથે્લોન્િાઇઝેળનપ્રરિમાસભજાલો.   

 (ફ) સલંિપ્તભાઆંયઝેડ્(RZ)અનેએનઆયઝેડ્(NRZ)ચેનરકોરડ્િંગતકનીકોનેસ
ભજાલો.  
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પ્રશ્ન ૪  બધાપ્રશ્નોનોજવાબ લખો (૧૪) 

 (અ) ડ્ીપયન્સીઅર ઩ીસીએભ 
(DPCM)સભજાલોઅને઩ીસીએભ(PCM)સાથેત  રનાકયો.  

 

 (ફ) રડ્જજિરભલ્ટિપ્રેક્સિંગનાસસદ્ાતંઅનેપામદાઓસભજાલો  

પ્રશ્ન ૫  બધાપ્રશ્નોનોજવાબ લખો (૧૪) 

 (અ) ઩ીસીએભ-િીડ્ીએભન સંચંારન બ્રોકડ્ામાગ્રાભસાથે લણટલો.  

 (ફ) ચેનરએસોસસએળનસસગ્નલરિંગ઩યટૂંકીનોંધરખો.  

    

પ્રશ્ન ૬  બધાપ્રશ્નોનોજવાબ લખો (૧૪) 

 (અ) આકૃસતસાથેચત થાાંળએપમ્પ્રિયડૂ્ભોડ્ય રેળન (QAM) સભજાલો.  

 (ફ) ટૂંકભાએંએસકે(ASK)અનેએપએસકે(FSK)નીચચાટકયો.  

પ્રશ્ન ૭  બધાપ્રશ્નોનોજવાબ લખો (૧૪) 

 (અ) જરૂયીતત્લો(Elements)સાથેડ્ેિાસચંાય(ડ્ેિા કમ્ય સનકેળન) સભજાલો  

 (ફ) બ્લ ટથૂકમ્ય સનકેળનતકનીકોસભજાલો.  

    

પ્રશ્ન ૮  બધાપ્રશ્નોનોજવાબ લખો (૧૪) 

 (અ) અસ ભે઱ડ્ેિાસસરયમરડ્ેિાકમ્ય સનકેળન(Asynchronous data serial data 

communication)ન લંણટનકયો. 

 

 (ફ) PAM, PWM અનેPPM નીત  રનાકયો.  

 


